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VERBAL REASONING ARITHMETICAL REASONING(ENGLISH)
Q1:In-aclass-of-40.students;-John is-ranked.15th from:the top.-What-is ‘his-rank-from:the bottom?
L.ong -Method: To.determine John's rank from the bottom, we need to understand the total number.of
students-and where John stands from the top.:1f John-is-15th-from the top, this means-there are 14
students-above him. Since the total number-of students:is 40, -we subtract the - number of students above
him-and-himself from-the total: 40 --15 = 25. This gives-us the humber of students -below John. -Hence,
adding-1-to-include John-himself, we get his rank from-the bottom-as 26.

Short-Method: If John is 15th from the top.ina class of 40; his rank from the bottom.is-simply
40-15+1=26.

Q2:-Atrain travels at-a-speed-of 60 Km/h-and-covers:a-certain distance-in-1.5-hotirs: What is-the
distance traveled-by the train?

Long Method: To find the distance traveled by the train, we use-the formula for distance, whichis the
product-of speed and time. Given the speed of the train is 60-km/h and-the time taken is 1.5-hours, we
calculate the distance as follows: Distance = Speed % Time. Plugging in the values, we get Distance =60
km/h x:1.5:h.=90-km:.

Short Method:-Distance =-Speed-x-Time =60 km/h x-1.5-h =90 km.

Q311 5x:=.60, what-is:the value of.x?

L.ong Method: To solve for x;, we start with the given equation 5x = 60. To isolate x; we need to divide
both:sides of the equation by-5. Performing the division, we get X-= 60-/-5.-Simplifying the division; we
find x=12: Thus, the value -of x15:12.

Short Method: x=60/5=12

Q4:-Arectangular field-has-alength-of 20.meters-and-a'width:of 15 meters. What is the area of the
field?

Long Method: To-find the-area-of a rectangular field, we use the formula Area = Length x Width.
Given-the length of the field is- 20-meters-and the width is 15 meters, we-substitute these values-into-the
formula: Area =20 m x-15.m. Multiplying the two values, we get-Area =300 square meters, Therefore,
the area of the field is 300 square-meters.

Short-Method: -Area = Length X Width =20 m %15 m =300 m2.

Q5: If acar cavers 180 kilometers -3 hours, what is-1ts-average speed?
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L.ong Method: To determine the average -speed of the car, we use the formula - Speed-= Distance / Time.
Given the distance covered is 180 kilometers-and the time taken:is-3-hours; we calculate the speed-as
follows: Speed =-180-km /3 h. Dividing-the distance by the time, - we get Speed =-60-km/h. Thus, the
average-speed of the car.is 60 -kilometers per-hour.

Short-Method: Speed =180-km/3h=60-km/h.

Q6:-A-piece-of fabricis:24 metersiong: H it 1s.cutinto pieces-each 3 :meters-long;-how-many.pieces
are-obtained?

Long Method: Tofind the number-of pieces.obtained from-cutting the fabric, we divide the total length
of-the fabric by the length of each piece. The total length is 24 meters;-and-each-piece-is-3 meters-tong:
Thus; the number of pieces:is-calculated as follows: Number: of pieces = Total length / Length of each
piece =24 -m1-3 - m. Performing the division, we get 8 pieces.

Short Method:-Number of pieces =24/3 = 8.

Q7 Af2x+:3=11; what'is. the.value-of X2

Long Method: Ta solve for x; we start with the-given equation 2x +-3-= 11.First, we need to-isolate the
term-with-x by-subtracting 3 from-both-sides: 2x +:3.--3 =11 = 3,-which simplifies to-2x =-8.-Next, we
divide both sides-by 2 t0-solve for x:2x./2.=8 /-2, giving-us X = 4.

Short Method: x=[11-3]/2=8/2=4.

Q8:-A-box contains 120.chocolates: 1f:30%6-of the chocolates-are dark chocolates, how many dark
chocolates-are there?

L.ong Method: To-find the-number of dark chocolates, we need to calculate 30%:0f 120 chocolates. We
use the percentage formula: Number of dark chocolates = (Percentage /.100) x Total chocolates.
Substituting the values; we get-Number of dark chocolates = (30 /:100) x-120. Simplifying this, we
calculate 30%: of 120 by multiplying: (30.x-120) /-100-=36.-Thus, there are 36 dark chocolates:

Short Method: Dark chocolates =0.30x120=36

Q9 the:sum-of anumber.and-9.is 24; what is the number?

L.ong Method: Let the unknown -number-be represented-by X. -According to the problem; x +9.=24.To
find the value of x; we need to-isolate it by subtracting.9 from both sides of the equation: X +9.-9.=24 -

9, which simplifies to-x =15. Hence, the-number is 15.

Short Method: x=24=-9=15
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Q10 A-man-buys a penfor-$15.and-sells-it-for-$20.-What is his profit percentage?

L.ong Method: To determine the profit percentage, we need to. first calculate the profit and then find the
percentage. The profit is-the selling price minus-the cost price: Profit = $20 - $15.= $5: To find the profit
percentage, we use the formula: Profit Percentage = (Profit /. Cost Price)-x-100. Substituting the values,
we get -Profit Percentage =+($5./ $15)%-100. Simplifying the fraction, we have (1/3).%100 =.33.33%.
Thus; the profit percentage is-33:33%.

Short-Method: Profit percentage =(20-15)/15)x100=33.33%

Q1i:Ifthe ratio.of thé ages-of A-and B-is-3:5.and the-sum-of their ages 1540 years; what are their
ages?

Long Method: Let the ages of A-and B-be 3x and-5x respectively.-According to the problem, the sum.of
their-ages is 40 years, which- gives us.the equation-3x +5x = 40. Simplifying this, we get 8x =40. To
find the value of X, we-divide both sides by 8: x.=40/-8 = 5. Therefore, the age of A'is3x.=3x5=15
years; and the age of B is'5x =5 :x.5= 25 years.

Short-Method: 3x+5x=40->8x=40-540/8->5

Q12:1f-6p =48, what i1s the value of p?
L.ong Method: To solve for p, we start with the equation 6p =48..To isolate p, we divide both sides of
the equation by 6: p-= 48/ 6. Performing the division; we find p-= 8. Therefore; the value of p:is 8.

Short Method: p=48/6=8

Q13:If-atriangle-has-a base:of10.cm-and-a-height-of-6-.cm; what 15 its-area?

Long Method: To-find the area of a triangle, we use the formula Area = 1/2-x Base % Height. Given the
base of the triangle is- 10 cm and the height is.6.cm; we substitute these values into the formula: Area =
172 % 10-cm-x-6-cm, Multiplying these values; we get Area =30-square centimeters. Thus, the-area of
the triangle-is 30.cm2.

Short Method: Area = 0.5x10x6=30 ¢m?

Q14 A'man-spends - 75%-of his-incame: 1 his incame:15-$4000;-how -much-does he save?

Long Method: To find out how much the man saves, we first need to-calculate the-amount he spends.
Since-he spends 75%.0f his income, we use the percentage formula: Amount spent = (Percentage /- 100)
x-Total-income. Substituting the values, we get- Amount spent =(75./-100). %4000 =-0.75 % 4000 =
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$3000: To find-his savings, we subtract the - amount spent from:his total income:-Savings = Total income
=Amount spent =4000 -:3000 = $1000.  Thus, he saves $1000:
Short-Method: Savings = 4000-0.75%4000=4000-3000=10004000-0.75%4000=4000--3000=1000.

QI15::1f-7y=-3=25; what is the-value of .y

Long-Method: To.solve for y, we start with the equation.7y---3.=25. First,-we.-add 3 to both sides to
isolate the term with y: 7y - 3 +3:=25 + 3, which simplifies to 7y = 28.-Next, we divide both sides by 7
to'solve fory: 7y 1 7.=28 17, giving us'y = 4.

Short Method: y=[25+3]/7—y=4

Q16:-Acar travels: 240 km-using-16-liters of petrol. What is:tts-fuel efficiency:-in-km:per: titer?
L.ong Method: To-find the fuel efficiency of the car, we use the formula Fuel Efficiency = Distance /
Fuel Used. Given the distance traveled is:240 km-and the fuel used is 16 liters, we substitute these
values-into the formula; Fuel Efficiency = 240 km/-16 liters. Performing the division, we get-Fuel
Efficiency =15 km/liter. Thus, the fuel efficiency of the car-is 15 km:per liter.

Short:-Method: Fuel Efficiency = 240 km1/6-liters=15 km/lite

Q1.7: Thesum-of two consecutive even numbers is 54, What-are the numbers?

L.ong Method: Let the two consecutive even numbers-be x and x +2.-According:to the problem, their
sum-is-54, giving us the eguation X+ (x +2).= 54. Simplifying this, we get 2x +2:= 54. Subtracting 2
from-both:sides; we have 2x.= 52.:Dividing both sides by 2, we find x-= 26. - Therefore, the two
consecutive even numbers:are 26-and 28.

Short-Method: 2x+2=54--52x=54-4-5x=52/2-526

Q18:1f-the-price-of a-book is-reduced by 20%, it costs. $24. \What was-the-original price?

Long -Method: L_et the original price of the book be P.-According to the problem;, reducing the price by
20% results in-a cost-of $24.- This means the price after-reduction-is:80% of the original-price; giving-us
the equation 0.8P = 24. To find the original price, we divide both sides by 0.8: P:=24'/0.8. Performing
the division, we get P.=-30.. Thus, the original price.of the book was $30.

Short Method: Original Price =240/8=30.

Q19: 1 9a =81, whatis-the.value-of a?
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L.ong Method: To solve for-a, we start with:the equation 9a.= 81. To-isolate a; we divide-both sides -of
the equation by 9:-a=81:/:9. Performing the division, we find-a= 9. Therefore, the value of ais-9.

Short-Method: :a=819=9a=981=9.

Q20:-Arectangular garden-has-a-length-of 25 -meters-and a width of 10-meters. What is:the
perimeter-of- the.garden?

L.ong Method: To find the perimeter-of a rectangular garden, we use the formula Perimeter-= 2(Length
+Width). Given the length is 25 meters-and the width-is 10 meters, we substitute these values into-the
formula: Perimeter =2(25 m +.10 m).-Adding the length and width, we get Perimeter = 2(35'm)-=70
meters. Thus, the perimeter of the garden-is-70 meters.

Short-Method: Perimeter = 2(25+10).=2x35=70

Q21: 1t .ashopkeeper:sells.an-item for-$250 -and makes.a profit of 25%, what is:the-cost price?
L.ong Method: Let the cost price be C.-According to the problem; the shopkeeper makes a profit of
25%; which means the selling. price is-125%:of the cost price. We have the equation 1.25C =250. To
find the cost price, we divide both sides by:1.25: C =250 /-1.25: Performing the division; weget C-=
200.-Thus; the cost price-is $200.

Short Method: Cost Price-=:250/1.25=200

Q22: 1 3m:~4:= 20, what is-the value of'm?

L.ong-Method: To solve for-m; we start with-the -equation 3m.- 4 = 20. First; we add 4 to both sides to
isolate the term-with-m:-3m -4 +4 =20 +4,-which-simplifies 10-3m-=24. Next, we-divide-both sides by
3-to-solve for m: 3m-/ 3= 24/ 3; giving us m =8.

Short Method: m=[20+4]/3=24/3=8

Q23: f acircle has a radius-of 7-cm; what is its - circumference? (Use w.=22/7)

Long -Method: To find the circumference of a circle, we use-the formula Circumference = 27, Given
the radius is"7.cm-and using m.=22/7, we substitute these values into the formula: Circumference = 2%
(2217)-%-7.. Simplifying, we get Circumference =2 x 22 =44 cm. Thus, the circumference of the-circle is
44 cm;.

Short Method: Circumference = 2x[22/7]x7=44 cm
Q24 1f.a-man-earns-$1500-per-month;-how:much:-does he-earn in-a-year?
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L.ong Method: To find the annual earnings,-we multiply-the monthly earnings by the number of months
in-a year. Given the monthly earnings are-$1500, we have Annual earnings-= $1500 x.12. Performing
the multiplication, we-get Annual earnings = $18,000. Thus, he earns $18,000-in a year:

Short-Method: Annual-earnings-=1500x12=18,000

Q25:1f 5(x:=-3) =20, what is-the value-of x?
L.ong Method: To solve for X, we start with - the equation 5(x --3) =-20. First, we divide both-sides by 5
to-isolate the term with x: (x.--3).=-20./.5; which simplifies to x - 3.= 4. Next, we add 3 to both sides to
solve forx: x =3+ 3 =4+ 3, giving us x =7-

Short-Method: x=20/5+3=4+3=7

Q26: Atank-holds:500 liters-of water.- I itis filled at a rate of 25-liters per minute; -how long wilkit
take tofitl the tank?

L.ong Method: To find the time required to fill the tank; we use the formula Time = Volume /-Rate.
Given-the volume-is-500-liters and the rate-is.25 liters per minute, we substitute these values into.the
formula: Time =500 liters /-25 liters per-minute. Performing the division, we get Time = 20 -minutes.
Thus; it will take 20 minutes to-fill the tank:

Short Method: Time:=500:liters25 liters/minute=20-minutes.

Q274 8K+ 4.=68, what is-the vatue of k?

L.ong Method: To solve for k; we start with- the equation 8k +4.= 68. First; - we subtract 4 from both
sides to-isolate the term-with ki 8K+ 4 = 4. =68 = 4, which simplifies to 8k = 64.-Next, we divide both
sides by 8 to solve for k: 8k /8 =1641/8, giving-us k =8.

Short Method: k= [68-4:]/8: k=64/8: k=8.

Q28: 1 a rectangular-plot-has a perimeter:of:60-meters-and:the fengthi1s:20-meters; what is-the
width?

L.ong Method: To find the width of the rectangular plot; we use the-formula for the perimeter of.a
rectangle: Perimeter = 2(Length-+ Width). Given the perimeter is-60 meters and the -length-is 20 meters,
we substitute these values into-the formula: 60-=2(20 + Width). Simplifying, we get 60 =40+
2(Width). Subtracting 40 from-both sides, we have 20.=2(Width). Dividing both sides by 2, we find
Width =10 meters.

Short Method: Width = [60-(2%20)}/2=10 -meters.
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Q29:-1f-12x-=144; what is the -value-of:x?

L.ong Method: Ta solve-for x, we start with the-equation-12x =-144..To isolate x; we divide both-sides
of the equation by 12:x =144 [-12. Performing the division, we-get x =12. Therefore, the value-of X is
12.

Short Method: x=144/12=12

Q30: Thepopulation of a-town:increased - from:20,000:to 25,000 What is.the percentage increase in
population?

L.ong Method: To-find the percentage increase, we use the formula:

Percentage Increase = [(NewPopulation-0ldPopulation)lOldPopulation] x100%

Substituting the values, we get

Percentage: Increase = (25;000-20,000)/20,000x100%:

Simplifying, we get

Percentage. Increase =15,000/20,000x100] %=25%Thus; the percentage increase-in-population is 25%:

Short-Method: Percentage Increase = 5,000/20,000] x100%=25%:

Q31 1f the difference between:a:number:and.5:1s:12, what-is‘the number?

L.ong -Method: L et the unknown number be x. According tothe problem, the difference between the
number-and 5'is 12;-giving us the equation x =5 =.12. To solve for x, we-add-5:to both sides: x =5+ 5=
12-+5, which simplifies to x =17. Hence, the number.is-17:

Short-Method: x=12+5=17x=12+5=17.

Q32:-Aman spends $80.on-groceries; whichis:40%-of his-monthly.income, What is-his-monthly
income?

L-ong-Method: Let the monthly income-be I.- According 1o the problem; $80:is 40%.of -his monthly
income, giving us the-equation-0.41 =-80. To find the moanthly income; we divide both- sides by 0.4:1 =
80./:0.4.. Performing the division; we get 1= 200. Thus; his monthly:income is $200:

Short-Method: Monthly income = [80*100}/(40)=200
Q33 1f 7a+2:= 37; what-1s:the-value of a?

L.ong-Method: To solve for-a; we start- with-the equation 7a-+2 =37. First; we subtract 2 from-both
sides to isolate the term with a: 7a-+ 2 = 2 =37~ 2, which simplifies to 7a.='35. Next, we divide both
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sides by 7-to solve fora: 7a/7=35/7;giving.usa=5.
Short Method: a=[37-2]/7=5

Q34 1T-a rectangle has-a-tength-of-15cm-and-a-width-of 10 cn; what isits-area?

Long Method: To-find the area of a rectangle; we use the formula -Area = Length x Width. Given the
length is 15-cm and the width is 10-cm, we substitute these values into the formula:-Area = 15.cm %10
cm. Multiplying the two values; we get Area =150 square-centimeters. Thus; the area of the rectangle is
150 cm?2.

Short Method: Area = 15x10=150 cm?

Q351 the ratio-of boys to girls-in-a-class 15:3:2 and. there-are-30-boys, how-many-girls are there?
L.ong-Method: Let the number.of girls be G.-According to.the problem; the ratio of boysto-girls is-3:2,
which.means:BoysGirls=32GirlsBoys=23.:Given there are 30-boys, we can set up-the proportion:
30G6=32G30=23. Cross-multiplying; we get 3G = 60. Dividing both-sides-by 3; we find G =20.. Thus;
there.are 20 girls:

Short-Method: G=[30x2]/3=20

Q36: 1 5t:=35; what is-the valug of t2
L.ong Method: Tosolve for t, we start with the equation 5t = 35. To isolate t, we divide both:sides of the
equation by 5:t=35/5; Performing-the division, we get t = 7. Therefore; the-value of tis 7.

Short-Method: t=35/5=7

Q37 If-atriangle-has sides-of-3.cm;4-cm, and5-cm; whatis 1ts perimeter?

L.ong Method: To find the perimeter of a triangle; we add the-lengths of -all its-sides. Given the sides-are
3.cm;-4.cm; and 5. cm; we have Perimeter. =-3.cm +4.cm+ 5.cm. Adding these values, we get Perimeter
=12 cm:-Thus, the perimeter-of the triangle is.12-cm.

Short-Method: Perimeter =.3+445=12-¢cm

Q38 Atrain-travels 300 km:in:-5-hours:-What s its average-speed?

L.ong Method: To determine the average speed-of the train, we use the formula Speed = Distance /
Time, Given the distance traveled. is 300 -km and the time takenis 5 hours, we calculate the speed-as
follows:-Speed-= 300 km/-5-h.-Dividing the distance by-the time, we get Speed =60 km/h.-Thus; the
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average speed of the train is 60 kilometers-per hour.
Short-Method: Speed. =300 km5 h=60 km/h5h300 km=60-km/h.

Q39:-1f-thesum:-of a-number-and-8is°20,-what:is-the.number?

Long -Method: Let the unknown number be x.-According-to.the problem, the sum-of the number-and-8
is 20, giving-us the equation-x:+.8 = 20.-To-solve for x,-we subtract 8 from both sides: x +8:--8 =20 =8,
which simplifies to x =:12..Hence; the.-numberis 12.

Short Method: x=20=8=12

Q40::1f-a'man buys 6-apples-for-$18;-what:is-the'cost of one-apple?

L.ong Method: To-find the cost of one-apple, we divide the total-cost by the-number of apples.-Given the
total cost'is $18 and-the number.of applesis.6, we-have Cost per-apple = Total cost /- Number-of apples =
$18/:6.-Performing the division, we get-Cost per-apple = $3.-Thus; the cost of one apple-is $3.

Short-Method: Cost per.apple =:18/6=3

Q41:1f-the sum: of three consecutive odd-numbers is:69; what is the-smatllest of these-numbers?
Long-Method: Let xx be the smallest odd number. The next two.consecutive odd numbers would be
x+2x+2.and x+4x+4, According to the problem, x+(x+2)+(x+4)=69x+(x+2)+(x+4)=69. Simplifying; we
get-3x+6=693x+6=69. Subtracting 6 from both sides; we have 3x=633x=63. Dividing by 3, we find
x=21x=21. Therefore, the smallest odd number is 21.

Short- Method: Let the smallest odd number.be xx. 3x+6=69:3x=69-6-hence x=21

Q42::Arope of 60 meters1s-cut into-two pieces: 1 .one piece-1s-three times the fength of the other;
what-are the lengths of the two-pieces?

Long-Method: Let xx bethe length of the shorter.piece. Then'the Tonger piece is 3x3x.-According to
the problem, x+3x=60x+3x=60. Simplifying, we get 4x=604x=60. Dividing by 4; we find x=15x=15.
Therefore; the lengths of the:two pieces are 15 -meters and 45 meters:

Short Method: Let the length of the shorter piece be x. - Then the longer piece is 3x.; x+3x=60->4x=60,
S0 x=15, and the lengths are. 15 meters-and 45 meters.

Q43: 11 4y-5=194y-5=19, what is the value of yy?
Long-Method: To-solve for yy, start with 4y—5=194y-5=19. Add 5 to-both sides to-isolate the term
with.yy: 4y=19+54y=19+5, which simplifies to 4y=244y=24. Then, divide both sides by 4:
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y=24/4y=24}4, giving y=6y=6.
Short Method: y=(19+5)/4=6y=(19+5)/4=6.

Q44:-Aladder-is-placed against-a-wall: The ladder is 5 meters-long and reaches a point 4. meters
abovethe ground. How far-is'the base of the ladder-from the wall?

L.ong Method: Using the Pythagorean theorem; the length of the ladder is the hypotenuse of a right
triangle,-and the distances from the wall-and the ground-are the other two-sides. Thus,
x2+42=52x2+42=52, Solving for xx, we get x=25-16=9=3x=25-16=9=3 meters:

Short Method: Using the Pythagorean theorem; x2+4%=5% hence x=3 meters.

Q45:-Arectangular field-has-a tength-of 30-meters-and-a diagonal-of 40 meters. What is-the vidth
of the field?

Long Method: Using the Pythagorean theorem; the length,-width, and diagonal form-a right triangle.
So, 30%+w?=40%:. Solving for w, we get w2=40%-30%=1600-900=sqrt700 meters.

Short Method: Using the Pythagorean theorem; w2=40°=30%= sqrt700 -meters.

Q46:-1f-the area-of a square 1564 square-centimeters, whatis-the:length of each-side?

L.ong Method: For a-square; the area is the square of the length of a side. So, side?=64: side’=64. Thus,
side=8 centimeters.

Short:Method: side?=64:-side=8cm
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